SHENCRT—T)IV
Multiple Spindle NC Rotary Table

TABLE TM . TM2100 - TM3100 - TM2160 » TM3160
series TH2100 - TH3100 - TH2160 - TH3160

NC ROTARY

1EQEMYTEANT SEENSEHZIAIT
Multiple spindle range for multiple work piece machining
Reduces set up time and increases productivity

@R T —— BN\ ME&ET
Mono-block body & compact design
O REEL CRY E VTRV VICHRE
Ideal for tapping machines with high speed rotation
O FXEB DI E(LICER
Working time reduced
@ IERRILFAE Y RIVET IV

Multiple spindle for simultaneous work piece machining _
*CExtliam CE correspondence 71/:____‘_:,__——?—’-’—"'_ )

AKTAGAWATC D S TEDF v v I EEDETTIRE
D=0 R—=IVT 4B TTERLEN
Work holding device combining NC Rotary Table and Chuck.




(Dditagawa

{IhngH{t4E additional axis specifications M{ES{1# M signal specifications
%7 —7) A X10013ZE ED I EFIRTEE ¥ T —7) A X1001F Z2 [ EDIHEFRETHE
*Table Size 100 can be used for only pneumatic type. *Table Size 100 can be used for only pneumatic type.
HiE TF=IWHLX THAVES HEE TF=IWHLX THAVES
Type Table Size Design No. Type Table Size Design No.
™ : &BRF 100160 T—42iEE T™: BEF 100160 Quinteft#k
Right-handed Motor type Right-handed Quinte specification
type F—=7 IV 45> 75 Clamping method ~ tYPe F—=7IVE 25> 773 Clamping method
TH:ZEBF  Numberoftables A : ZE[E Pneumatic TH: EBF Numberof A :ZE[E Pneumatic
Lefthand 3.3 B : ZEE (L)1 AB 7—R %) Lefthandtype tables2-3 B : ZEmE (BEFT7/\f FOT—R%)
type Air-Hydraulic (AB booster) Air-Hydraulic (external air hydraulic booster)
H : J8/E Hydraulic H : EE Hydraulic
M {1#% Specifications
B X Model TM2100 TM3100 TM2160 TM3160
HBF Right-handed type O O O O
EBF Left-handed type O O O O
7—7IVIE?R Table dia (mm) 105 6105 ¢165 6165
F—7)VEH#74Z Centre hole dia (mm) ®50H7 ®50H7 ¢ 50H7 ¢ 50H7
T—7IVEE7VE Through hole dia (mm) $32 32 040 640
t>%/\1 | Centre height (mm) 110 10 140 140
- q =E =E ZE[E/ZEMIESRIE | Z2 /S ESHE
95772 Clamping method Pneumatic Pneumatic Pneumatic/Air-Hydraulic/Hydraulic | Pneumatic/Air-Hydraulic/Hydraulic
7o
ZEE{14%0.5MPak¥ 17 17 176 176

457 kb4 | Pneumatic 0.5MPa
Clampingtorque(\m) | 2534 £4%0.45MPaREELH 3.5MPaFS

air-Hydraulic 0.45MPa Hydraulic 3.5MPa - N 400 400
E—2EhE A F—>+ Motor axis reduced inertia (kg:m2) 0.000353 0.000475 0.000145 0.000188
#—HRE—4% (FANUCIHERDIZS) Servomotor (for FANUC specification) aiF 4/5000-B aiF 4/5000-B aiF 4/5000-B aiF 4/5000-B
R LE (M{ESEHEL) Gear ratio(Decel. Ratio in M signal) 136 1/36 (1/160) 7 Note? 1/90 1/90 (1/120)

FANUC{t%k 83.3 69.4 333 333
F—7IEEEEEE | FANUC specification(min-1) (at motor 3000min-1) | (at motor 2500min-1) | (at motor 3000min-) | (at motor 3000min-1)
Max. rotation speed | M{S 5 {145 83.3 50 33.3 16.6

M signal specification(min-1) (at motor 3000min-1) | (at motor 3000min-T) | (at motor 3000min-1) | (at motor 2000min-1)
SFBT—24F—+ Allowable work inertia (kg-m2) 0.054 0.054 0.51 0.51
£I|HH#ERE Indexing accuracy (sec) 60 60 30 30
FEIF¥ERE Repeatability (sec) 5 5 4 4
BISEE Mass of product (kg) 85 100 100 150

— “ )9 . o3
B e e TS2100RN TS3100RN TS2160RN TS3160RN
HARNEE ol @ 60 60 160 160
AIIO\ILva.bIe mass of BT
HOPIEE \?(;;Ealginstaﬁjation (B 30 30 80 80

U4 S 6 6 10 10

Eff';é‘ﬁé_ FXL (N-m)
G—IIH5TH) ax 200 200 600 600

Allowable load
(When clamped to table)

FXL (N-m) @ B | R e
17 n7 400 (ZSALE + SHIEFLAR) | 400 (ZEHIE - SELLHD)
(Air-Hydraulic) (Air-Hydraulic)
LBV Y T (N-m) IS
e .
Allowable cutting torque @ 180 180 300 300

) LENRERRARA Y FIENCT —7)VDTC DM LREBRC 2V —RICABLTWE T,  2BEZHEY 52 TIROBEIE. TV SV TRYL/A RNV IERELTVE T,
INCT—)b& T S DRED 7 —7 VR OR—RIEBLTHVE A, 4THET TV THERIE VL/A RNV TZRELTOE B A T BERICTTERFEL, S-S
BHEIIBHMESTIREEDEETY, 6.0—2UY3A >k 7—)VAE Y NUSBLESHEHK TEL,  7(IMNEhT S — OB E. BuRE1/60105UE 7,

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM/LR of NC tables. 2. In case of air/air-hydraulic clamp specifications, the solenoid valve(s) for
table clamp is (are) incorporated. 3. Neither cable nor hose is fitted between NC rotary table and machine tool. 4. Solenoid valve is not incorporated in case of hydraulic clamp
method. Consequently, customer shall prepare it. 5. Each product mass is determined by a Kitagawa M signal spec. 6. Contact to Kitagawa about rotary joint and tail spindle.
7.In case of additional axis specification of Brother, the gear ratio will be 1/60.



TM . TM2100 - TM3100 - TM2160 - TM3160
TABLE series TH2100 - TH3100 - TH2160 - TH3160
B~F%E [{3hn%h{14%] Dimensions [additional axis specifications)

TM2100 (TH)
497 260 NARIVE
Hex bolt
140.5 356.5 151 109
| F—JIVLE St.17 M16X65
T 1 Table surface [ts]
2X3-M8 Y&W’ 2X3-M8 + Gbe d’mv ==
P PO S AT [ ]
g = 8 bl s —
ol ® % S 8| wl 1L 150 5 = ﬂﬂ
& o T L 24| 48 | 7 | 45
h q L 14.6 | |25/ |13 ‘
5 ‘ - 5t [
I 149 )
2 perg &l 10 10 & L@)l @
97V T REREEN e — .
WasEn <040 oL IR G277 TER
Pneumatic port for clam rough Hole Diameter Clamping Devices
2 269 222 (on back side) b

Rc1/8 75> 7TRZEEHAEN
TM2160 (TH) Pneumatic port for clamp

Rc1/4 75 714& 0 5> TRmEMEO

Hydraulic port for clamp with plug

625.5 (EEICHIET) AL
(on back side) Hex bolt
207 418.5 286
2X3-M10 151 135
T—7IVEE
(S Table surface 6-M6
“ - e
- re} | . A
e 8 or— , |-
Yol
3\ 8 8 i ‘150 ,:E%A: ?E ‘
S ‘ 4 L T 3 32 20| 3 21| o -
o v I o I = g = (_& o
ot Jj8n7 = S NERS 149 F—out -l g
1005 200 (1005 7070 o Table T-slot Grooves L
\ \ ‘ T IVEER US>V T8RE
6.3 401 218 Through Hole Diameter Clamping Devices
TM3100 (TH)
617 267 ARV
Hex bolt
200.5 416.5 1 111 X
56 F—7)VEE M16X65

|30.5

Table surface St17
3X3-M8 a0° \7 )
, et Bt
< —— Mo
\—ﬂj

50H7
L

8 = ‘
S |
ol ™ ®|w| 6l 150
] 4+ 2T 2 =
o Y L - 24| 48 | —
- . - 14.6 | |25 |13 @
Re1/8 al 10 10 ® 149 L@J%
745 Y5y TREEREN| 70 | 70 o
E@ksVEy) T F=7IVEEN ISV TH/E
6 389 222 Fg:gglcakﬂ; e?ftfmdamp Through Hole Diameter Clamping Devices
Rc1/8 95> 7 RZEE#HAO
TM3160 (TH) R4 75 4% 55 FRERHAN
(EmEICHVET)
Pneumatic port for clam RN
8335 Hydraulic _pgrt for clamp%vith plug NARIVH
307 526.5 (onbackside)  2gg Hex bolt
M16X65
15¢ -
5 3X3-M10 151 |, 135 L St.17 °
u,:- Table surface 6-M6 =}
= O | ioc A 1
o SR8 6T e~ R @ 12 S
o “7‘7 oot [ 7% 0218 S 3 9 L — + = Ey}» ;L
N NG RSN =l ‘ 24048 | =| |45
g ¥ 180 Tl | js2 20| 23 E 5 -5
| b ) / - T !
Ca—| | — -y =1 0 149 < 21 | @
0 4 18h7 2 & 18 & he
— e - 15)
1005 200 200 _|1005 70/70 F—7 IV EEN F—ILTH |30 @
\ 1 ! Through Hole Diameter Table T-slot Grooves o
6.5 601 226 45U TRE

Clamping Devices

X ERRNBRTEIZFANUCIAR T, It E—2ERDIBE TENRE ST DBV E T, TMISARSF AR THIXEBFLRTY,
%The above dimensions are the same as FANUC specifications.Those dimensions may vary from motor to motor that is mounted.
TMis aright hand spec. and TH is a left hand spec.




(ditagawa

*E—2DOMERICKYNETEDNEDLZETREEDHIE T,
*The dimensions may vary from motor to motor that is mounted.

W~FER [M{E5114%] Dimensions [M signal specifications]

TM2100 (TH)
480 RN
150 141 339 F—FILE hedia
140 _[10  2x3Ms 2X3-M8 Table surface _ St17 M16X65
~ ©
I o
. IR —— A P
o o S o o ] ! |
— L S
° @ || o g . 14.5J‘ =
ha = a0 24| 48 | —I | 45
5o, g 149 @
by & X ?
10 ,LLO h7 T—IIVEENR Lg_q o
70 | 70 74| 120 | 75 Through Hole Diameter Y
w Re1/8 05> TRz ERHEO ISV TE#E
7 269 204 (EHEICHYVET) Clamping Devices
Pneumatic port for clamp
(on back side)
TM2160 (TH)
Rc1/8 75> 7RZEEMMBO
Pneumatic port for clamp e
633 R4 TS O18%E &5 7RmELAN ARV
151 207 426 Hydraulic port for clamp with plug Hex bolt
2% 3-M10 (EEICHIET) St17 M1665
e (on back side) — 7
° F—7)VtE 12 / 3
= Table surface 6-M6 T
o o— [ %
8 o N - = @
—=Q-a = N L ) jL
150 |19 & o N % 21 @ 24 48_ 45
5 3 5 32 20| 5 !
o _ | — s i
2. 5 S e
& 8 by S Table T-slot Grooves o
«©
70170 100 | 200|101 F—TIEER -‘@L N
7 401 205 Through Hole Diameter 95U TRE
Clamping Devices
TM3100 (TH)
F—7)VEE
Table surface AR R
150 N _ o Hex bolt
(" St.17 M16X65
140 10 oo 'g Tt 0
= i w0 dijﬂ 8
o Ae R
YO_ L | ]: s
4 14.6 = 7%
e 140 24/ 48 | ~ | 45
h 149 F
T IVEBN
Through Hole Diameter L@’l 3
[aV)
70 70 5 390 208 R 2y R 45788
EEICHYE ; 8
‘ Pneumatic port for clamp Clamping Devices
(on back side)
TM31 60 (TH) Rc1/8 75> 7HRZEREAHEO
Pneumatic port for clamp
Rcl/4 7504 o5 TRBEMEO
833 Hydraulic port for clamp with plug SER
(E@EIBIET) AL
151 307 526 (on back side) Hex bolt
159 13X3-M10 i St17 M16X65
T—7IVEE [t}
0 Tablesurface  6-M6 =]
5 |/ = 12 EEE‘ o
] T £ - L=
o e — NB & 3 5 I - B
19 : ° oYe Yo &—‘ ‘,L
1 9 4 © l.‘(\|_) + b [ e/Ne o\ g ——— 1 =
o8 Q = &E 4 48| 2| |45
1041 5 g > > Il | ls220[| 28] |5 ﬁf !
e | A . y L 1+ 8 U™ T
gL = T o < L 3T s o @ &
-8 0 ,L 18h7 N — ' e Table T-slot Grooves
70|70 100|200 200 | 101 Th T_hﬂ”iﬁl’)@’ N ’1—1‘28
rou ole Diameter
‘ ‘ 9 950 78E
601 225 Clamping Devices
XTMIFABEF AR THIEEBF LR T,
%TMis a right hand spec. and TH is a left hand spec.






